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1 (a) Define Cost of capital

—

(b) Compute MIRR for the following projects:

CAMR

| Code:  |18MBA22

|

Sem: [If] Branch: MBA

Year [0 |1 2 3 4 5 6
Cash | 485,000 | 85,400 | 96,500 | 132,600 | 216,000 | 124,000 | 98,500
flow e

Cost of capital is 12%

(¢) ABC LTd issues 12% debentures of Rs 600,000. The tax rate applicable is 30%.
Compute the cost of debt capital i) at par ii) at 10% premium iii) at 10% discount.

2a)
(b)

3(a)
(b)

What is capital rationing

Explain the various sources of financing.

A Company’s after tax , cost of capital of the specific sources is as follows

Sources of finance Book Value( Rs) Market Value( Rs) | Specific Cost(%
Debt Capital 400,000 380,000 5
Preference Capital 100,000 110,000 8
Equity capital 600,000 900,000 15
Retained Earnings 200,000 300,000 13
Compute WACC based on a) book Value weight b) Market value Weights

What do you mean by profitability index?

Explain CAPM and

A Company plans to undertake a project for placing new product line in the [08] |

its assumptions

market. The company’s cut off rate is 12%. It was estimated that the project
would cost Rs 40,00,000 in plant and machinery in addition to working capital
of Rs 10,00,000 at the end of the life of the project , Scrap value 10% . After tax
is estimated as follows ' .
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Year 1 2 3 4 5

| PAT (Rs) | 300,000 | 800,000 | 13,00,000 | 500,000 | 400,000
DF @ ]0.893 0.797 0.712 0.636 0.567
12%

Evaluate the Project under: a) NPV, b) PI

Part B ( Answer all the questions, each question carries 20 marks)

a.. ABC has the following book value capital structure ( Rs in crores)

Equity capital ( in shares of Rs 10 each)

12% preferential capital( in shares of Rs 100 each

Retained earnings

11.5% debentures ( of Rs 100 each)
11% Term loans

Rs 15

Rs1

Rs20

Rs 10

Rs 12.5
The next expected dividend on equity shares per share is Rs 3.60, the dividend |
per share is expected to grow at the rate of 7%. The market price per share is
Rs 40. Preference share, redeemable after 10 years is currently selling at Rs 75
per share. Debentures, redeemable after six years are selling at Rs 80 per
debenture. The income tax rate for the company is 40%. You are required to

calculate WACC at Book value and market value weights.

b. A company has to select one of the two alternative projects where particulars

given below

(10)

(10) |

Year

0

1

2

3

4 A

Project A

128,72

0

100,000

20,000

10,000

10,000

" Project B

105,00

0

10,000

10,000

20,000

100,000

The company can arrange necessary funds @ 8%. Compute NPV and IRR for
each project and comment on the results.
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Cost of capital is the required return necessary to make a capital budgeting project, such as
building a new factory, worthwhile. When analysts and investors discuss the cost of capital, they
typically mean the weighted average of a firm's cost of debt and cost of equity blended together.

1a. Cost of Capital (2)

The cost of capital metric is used by companies internally to judge whether a capital project
is worth the expenditure of resources, and by investors who use it to determine whether an
investment is worth the risk compared to the return. The cost of capital depends on the mode of
financing used. It refers to the cost of equity if the business is financed solely through equity, or to
the cost of debt if it is financed solely through debt.

Many companies use a combination of debt and equity to finance their businesses and, for
such companies, the overall cost of capital is derived from the weighted average cost of all capital
sources, widely known as the weighted average cost of capital (WACC).

2a. Capital rationing

Capital rationing is the act of placing restrictions on the amount of new investments or projects
undertaken by a company. This is accomplished by imposing a higher cost of capital for investment
consideration or by setting a ceiling on specific portions of a budget. Companies may want to
implement capital rationing in situations where past returns of an investment were lower than
expected.

2.b Various Sources of Financing
According to Time Period

Sources of financing a business are classified based on the time period for which the money is
required. The time period is commonly classified into following three:

LONG TERM SOURCES OF MEDIUM TERM SOURCES OF SHORT TERM SOURCES OF
FINANCE / FUNDS FINANCE / FUNDS FINANCE / FUNDS

Preference Capital or Preference Debenture / Bonds Factoring Services
Shares

Debenture / Bonds Hire Purchase Finance Advances received from
customers
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International Financing by way
of Euro Issue, Foreign Currency
Loans, ADR, GDR etc.

Long-Term Sources of Finance

Long-term financing means capital requirements for a period of more than 5 years to 10, 15, 20
years or maybe more depending on other factors. Capital expenditures in fixed assets like plant and
machinery, land and building etc of a business are funded using long-term sources of finance. Part of
working capital which permanently stays with the business is also financed with long-term sources of
funds. Long-term financing sources can be in form of any of them:

> Share Capital or Equity Shares
Preference Capital or Preference Shares
Retained Earnings or Internal Accruals
Debenture / Bonds

Term Loans from Financial Institutes, Government, and Commercial Banks

YV VvV V VYV V

Venture Funding

3a. what do you mean by Profitability Index.

Profitability index (PI), also known as profit investment ratio (PIR) and value investment ratio (VIR), is
the ratio of payoff to investment of a proposed project. It is a useful tool for ranking projects
because it allows you to quantify the amount of value created per unit of investment.

3.b Explain CAPM and its assumptions

CAPM

The Capital Asset Pricing Model (CAPM) describes the relationship between systematic risk
and expected return for assets, particularly stocks. CAPM is widely used throughout finance for
pricing risky securities and generating expected returns for assets given the risk of those assets

and cost of capital.

Assumptions

(1) Investors are expected to make decisions based solely on risk-return assessments (expected
returns and standard deviation measures).

(2) The purchase and sale transactions can be undertaken in

(4) There is perfect compet
costs, involved.

(5) Personal income
(6) Investors @n«
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